TEKS 8.51 write an equation in the form y = mx + b to model a linear relationship between two

8t Grade TEKS Readiness Focus

quantities using verbal, numerical, tabular, and graphical representations.

Activity Directions:

ltems Needed: Algebra Representations activity, scissors, glue

1. Copy the activity for each student or student pair. Allow students to use
graphing technology for the activity.

2. Students cut apart cards and find three that correlate to the verbal
descriptions provided. (See below.)

3. Students may attach the cards or use multiple times to review.

4. Have students practice questions coded to TEKS 8.5I.
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Name

Find 3 cards that match each verbal descriptian:

Verbal description

sam, Frank, George and Tim

Equation

5. Attach to the template.

Table

Algebra Represen

s

520 f
= s
2 518
75! =
10 A
y=25x+5 3 e /
. Rt S8
5
L5 L —,
o1 2 3 3 5 s
~ =
X ¥ =
> 12 =
24 ©
. y= B 36 -
feng 8 48 °
] )
¥ nts 10 60 R .
pergier ci:3:s5676smA
Py
ghe Snack Shal jrges =
B per food it il ".;.... -
S0 <& drink. 1 125
gesents e - 2 L75 "
: ¢ tood y=05x+0.75 s
itams 275 s
®  yrepresents total 3t
cost @ v

Verbal description

Medium-sized pizzas are cut

ra)
sk
into & slices before they are = v
served at the pizza ) 0
restaurant.
1 g 2
e xrepresents the y = 8x ~ -
number of medium z 16 2
pizzas 3 24 8
sy represents total 4 32 N
0 x
slices of pizza Y. . . . i s
A theme park is sponsering oY
afundraiser. A donation of ®
55 will allow any person or x ¥ -
2 5 .
5 ——————>
: 6 5 -
money will go to charity y= 5 =
e X reprecents the 10 5 8
number of pecple 14 ] s
18 5 s
sy
o+ 2 oz 1w
>
———— >«
10
X ¥ b
[ —25 -30
feet 05 31 -
2et per minute. _ 05 = ™
s X represents total y=-12x-125 1 —37 60
minutes 15 —43 ;:
v represents total o ey a0
depth 100
0 .




Name Date

TEKS 8.51 write an equation in the form y = mx + b to model a linear relationship between two quantities using verbal,
numerical, tabular, and graphical representations.

TEKS 8.51 Mini-Assessment

1. Maria keeps pictures of her baby in photo 2. A hot tub holding 300 gallons of water began to
albums. She has one album of 72 pictures. She leak. The amount of water in the hot tub

plans to put more photos in a second album that decreased at a constant rate of 12 gallons per
holds exactly 8 pictures per page, p. Which hour. Which function can be used to find g, the

function can be used to find t, the total number of | total gallons of water after h hours?
pictures in Maria’s collection?

® t=172p+8 ® g= —12h+ 300
t=72-8p g = 12h =309
© ;- 8p + 72 © g ®3008 12
©® t=(72+8)p O 6= —300h + 12

3. Which function is best represented byghis grapler
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4. Ticket sales for a basketball playoff game 5. Frank drives a delivery truck. Each month he is
started at 3:00 P.M. The table shows the linear paid the same salary. He is also paid extra money
relationship between the number of tickets for the number of miles he drives delivering
remaining and the number of hours since 3:00 P.M. | packages each month.

Ticket Sales e In December Frank drove 1,200 miles and
Hours Since Number of Tickets was paid a total of $5,045.00.
3:00 P.M. Remaining e InJanuary Frank drove 860 miles and was
1 8,000 paid a total of $4,841.00.
2 6,000 Which function can be used to find y, the total
3 4,000 amount Frank is paid in a month if he drives
x miles?
4 2,000
5 0 )
®  y= 0.6x + 4328

Which function can be used to find y, the number

= 4,3252,:70.6
of tickets remaining x hours since 3:00 P.Mm.? y g

@©__y= 5.63x
® y= —2,000x + 8,000 |
| @ y = 4.20x
y = —2,000x + 10,000
©  y=2000x + 8,000
©® y = 2,000xen1(,000
6. The graph shows the relationship between the
value of an automobile and the age of an automobile. y Automobile Value
24
Which function best represents the relationship 23
shown in this graph? %
521
® y= 22,000x — 500 _220
2219
> 2
y = 500x + 22,000 518
217
© y=-1,000x + 22,000 i
14 X
® y= —500x + 22,000 0 1 2 3 45 6 7 8 9 10
Age of Automobile

(years)
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7. The graph of a linear function passes through the points (—1;, —Z) and (1%, —1%).

y
2

P
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Which equation best represents the function?
® y= —gx -1
y = —%x =2
© y = —%x -1

©) y=%x+1

8. An orchard chagges customers to pick fresh fruit.

e The orchard charges a one-time fee of $15 to harvest fruit.
e The orhard also charges S5 for every basket of harvested fruit.

Which function can be used to find t, the total amount a customer will pay to harvest b baskets of fruit?
® t=15b-5
t=15b+5
© t=-5p+15

® t=5p+15
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9. The number of hot dog buns in different numbers of packages is modeled by the graph.
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Which equation best represents the relationship between y_thenuniher of hot dog buns, and x, the

number of packages?
® y=x+8

y = 8x

@ y=%x

® y=8x+8

10. Afood truck sells_he mnu—.::s for $7.50 each and hot dogs for $6.50 each. Write an equation that

represents the total ¢Cst, %, of h hamburgers and 4 hot dogs.

Enter your answer in the space provided.
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